S Z cosA 9F Zro] ZHe AFzhH|=

® sinA @SinB ® cosB @ tanA ® tanB

8 8
i = —0b — — o|Bg gi = o|t}.
sin B 17 cos A 7 ] ,sinB = cos A ©|th




2.

o3t Zol C7F 90° 1 AZHAZHY
AABCOA cosB2] < ?
5 9 5
@2 ® § ®
@3 ©3
cosB:£:§
AB 9




3.  cos60° x tan 60° + sin 60° = Al4HSIH?

ov: @3 ® 2 @2v2  ©2V3
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& ™804 AC = 12c¢m , /B = 60°
Qo o, 7M7Y ABC 9] E|o] 4ol

@® 12(V2-1)cm
@ 12(V2+1)cm
® 6(V3+1)cm

@12(\/§+ 1) cm

® 12(V3-1)cm

B

12
60° —8\/_(0111)
E—cos60°x8\/§:4\/§(cm)

- (AZA23E ABC 9 Ed89 4o
= AB +BC + AC
=8V3+4V3+12

=12V3+12

=12(V3+1)cem




6. T2 183 Zoly =mx+n o I}
x Z3} oFo] Hhgko & o] R 71o] 97]5 ¢
2t & o), m e UERd 220

DYtana @ cosa—sina
1 cosa
® - @ =
sina sina
1
tana

(l-—_o]) _ (y94 }5@_%}:) _ |(%;—q_§:]l_

1) (x2] WS

wt2bA 7127] m = tana ©]t.
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ol
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=BC

@ cosC

=DE

@ tanA

BC

AB

@ sinA

@ sinC

@COS A

=DE

=

=

[aa]
<

|~

=

‘ ® cos A




/C 7} A7kQ) 47447 ABC o4 AB = 2, BC = 1 2

(sin B + cos B) (sinA — 1) &] 3127

V2 14+ V2 1+ V3
®_T\/' @—\/4 @-

AC=V22-12=3
(sin B+ cos B) (sinA — 1) = <\/7§ + %) <% —1)
V3




oS %] H4uAA AGE = x 2} D4 g

o], sinxxcosx O] FHE FE AR | \\‘

B A7 A i 4 é
\ 1
I 1
I !
H’: _____ 'SL(_‘JIG

- oz
B F
2 20 V2 203

®105;/_ ? 4;/_ ©

OEAL o 2V

< 57 57

EG =42

AE=5

AG = V57

wfehA

in x X cos > ><4\/§ 20‘/50]1’4-

sin x x = _ :

VBT BT 5T




10. o I3} Zol Htx|29] Zojrt 5 ¢ ¥ A
0 o }A-st= AABC oA BC =6 & o,
sin A 9] gt&?

3
oF

3
=7
7‘/_

®

> w

\/_
¥
® 3

B ~

(A = /A, /A’CB =
A’B=10

&
o

sin A =




11. g EE ol gslo]
(cos 55 ° + sin 56 ° — tan 54 °) x 10000 ] FtS -otof=t.

Zte sin cos tan

54° 0.8090 0.5878 1.3764
55° 0.8192 0.5736 1.4281
56° 0,8290 0.5592 1,4826

O 26 @ 97 ® 170 @262 ® 324

B

cos 55 ° = 0.5736

sin 56 ° = 0.8290

tan 54 ° = 1.3764

. (cos 55 ° + sin 56 ° — tan 54 °) x 10000

= (0.5736 + 0.8290 — 1.3764) x 10000 = 262




12, o3 1389 AABC oA 4F2H]9

, AABC 9] Ed|9] ol &

F5HH?
/10/
34°
A

Zte sin cos tan

54° 0.8090 0.5878 1.3764

55° 0.8192 0.5736 1,4281

56° 0.8290 0.5592 1.4826
D 5.592 @ 8.29 ® 13.882
@23.882 ® 29.107

~&B

olt}.

AB = 10 x sin 56° = 10 x 0.829 = 8.29
BC = 10 X cos 56° = 10 x 0.5592 = 5.592
w2t AABC o] S99 Zo]= 10 + 8.29 + 5.592 = 23.882




13. o2 199 aAABC oA /A =

AH1BC ¥ o, cosy 9] ZH-2?

90°,E=6cm,ﬁ=8em,

AABH SHOACBA, AAHC ¢OABAC
TE3HBC = V62482 =10cm ©]2 & cosy =

olct

o] w




14.

roh

o 1t Zo] g ¥l Zolrt 2
ol AAFHA A — BCD ©f| 4 BC ¢
ZHS E g sta, LAED = x & o,
cosx 9 g7

~&B

1 1 1 1 1
©; @; o, ®3 5
— — 11—
BE =1 °]1l 4 H = ABCD 9] 454022 EH = §ED,




15. y = —2cos®x + 4cosx + 5 7} HHAZES 7HE o, x 9] F29(H,
0°<x<90°)

@0 @ 30° ® 45° @ 60° ® 90°

cosx=A (0<A<1)etolH
y=-2A24+4A+5=-2(A-1)*+7
A=19d, A 7S 7MAER cosx=1<L T x=0°




